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22E(A)
SOCIAL STUDIES, Paper - 11

(English version,)
Parts A and B

Time : 2 hrs. 45 min.] [Maximum Marks : 40

Instructions :

1. 15 minutes are allocated to read the question paper and 2 hrs. 30 min. are
allocated to write answers.

2.  Answer the Questions under Part-A on a separate answer-sheet.

3. Write the answers to the Questions under Part-B on the Question paper itself
and attach it to the answer book of Part-A.

4. Attach the given outline map of World #ith the answer book of Part-A.

‘.Part - |

Time : 2 hours | | | | Marks : 30

ECTI - 4dx]1=4
NOTE : (1) Answerall fﬁe fﬂﬁﬂyﬁing questions.
(ii) | Each question carries ONE mark.

1. What is meant Byl the Great Depression ?

2. Why: did US intervene in the Vietnam War ?
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3. What is meant by the Coalition government ?

4. How did the oil extraction affect the agriculture in Nigeria ?

NOTE :

SECTION - IT

(i) Answer all the following questions.
(it) Each question carries TWO marks.

5x2=10

5. What aspects of the welfare state do you find functioning in India today ?

6. Observe the below map and answer the following questions.

1
2.

Map of Nigeria N

Which country colonised Nigeria ?

South - eastern Nigeria was dominated by which tribe ?

7.  Make a Bar-graph based on the below information.

1981-90 I 1991-2000 I

Years : 1951-60 | 1961-70 | 1971-80
Constitutional
Amendments : 7 15 2 22

-16

8. Suggest some measures to protect the world peace.

9.  What are the consequences of the economic liberalisation in India ?
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NOTE : (i) Answerall the following questions.
(it) Each question carrtes FOUR marks.

10. (A) How did the idea of Nation states and Nationalism influence desire for

war during 20th century ?

OR

(B) Write a short note on the basic principles of the Indian Constitution.

11. (A) “America was very cruel in the Vietnam war” - Comment.

OR

“RTT would help in improving and monitoring the work of the
governments.” - Do you agree with this ? Support your answer.

(B)

- 12. (A) Answer the questions with the help of the given information.

(a) Which nation was

ruled by the Manchu [The Manchu Empire ) —\
Dynasty ? overthrown 1911
() Who is considered as Three principles of San-Min-Chui
the  ‘founder - of Sun Yat-sen
modern China’ ? The People’s Republic
_ of China was established 1949
(c) Who was = emix.le'nt_ Napalam A deadly bomb
Human ]E'hgl:_lt.s actw!st Agent Orange A plant killer
and environmentalist :
of Nigeria ? Pimﬁed :‘uﬁetr-lam 1975
Pan Africanism Kwame
(d) What is meant by the = Nkrumah
Pan Africanism ? Nigerian Environmentalist Ken-Saro Wiwa
Democratic Government 1999
of Nigeria _
L e
OR
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OR
(B) Observe the below graph and answer the following questions.
The Armaments Race
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13. (A)

(B)
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(1) In which vear, the military expenditure was high ? Why ?

(2)

How would the armaments race impact the progress of a country ?

Point out the following in the given map of the World.

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

The country in which UNO Headquarter is located.
The country that setup the first Communist Government.
The first country that faced atomic attack.

The motherland of Mussolini.
OR

Egypt
Indonesia
Britain
China
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This Question Paper contains 4 Printed Pages.

22E(B)
SOCIAL STUDIES, Paper - 11

(English version)
Parts A and B

Time : 2 hrs. 45 min.] | [Maximum Marks : 40

Instruction : Write the answers to the questions in this Part-B on the Question
paper itself and attach it to the answer book of Part-A. |

Part - B
Time : 30 minutes Marks : 10

SECTION - IV
NOTE :

1. Write the CAPITAL LETTERS (A, B, C D) showing the correct answer for
the following questions in the brackets provided against each question.

2. Each question carries /2 mark.

3. Answer all the questions.
Answers are to be written in the question paper only.

Marks will not be awarded in any case of over-writing, rewriting or erased
answers.

14. The R.TI Act was passed by the Central Government in the year : [ ]

(A) 2003
(B) 2005
(C)- 2007
(D) 2009
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15. Meira Paibi (in Meitei language) literally can be translated as :
(A) Torch bearers (B) Sword bearers
(C) Flag bearers (D) Whip bearers

16. British women got the right to vote in ....
(A) 1915 (B) 1918
(C) 1946 (D) 1948

17. In 1870, Bismarck wanted to isolate :

(A) Russia (B) England
(C) France (D) Japan

18. The last Tsar :

(A) Nicholas I ‘ (B) Nicholas II
(C) Peter the Great (D) Alexander II

19. The Enabling Act was passed in the year ....
(A) 1931 (B) 1933

(C) 1935 (D) 1937

Which preamble of the Constitution describe

“Government is a sacred trust of the people” ?

(A) Nepal (B) Germany
(C) Japan (D) India

21. Which of the following applies to the Indian Constitution ?
(A) A single Judiciary system.

(B)  Uniformity in fundamental laws, civil and criminal.

(C) A common All-India Civil Service to main important posts.
‘D) All the above.
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The Greenpeace movement initially started against ....
(A) American under-water nuclear tests near Alaska.
(B) Cold war between USA and USSR.

(C) Apartheid

(D) Militarism

At the time of its establishment, the number of member
countries in UN was ....

(A) 50 (B) 52

(C) 83 (D) 54

The last Viceroy of India was ....
(A) Wavell (B) Hardinge
(C) Mountbatten (D) Hastings

Which political party of Britain had a sympathy on Indian
Freedom Struggle ?

(A) Conservative Party | (B) Labour Party
(C) Republican Party (D) Democratic Party
26. The Indian national leader who fasted on the first
Independence Day was ... | :
(A) Jawaharlal Nehru (B) Vallabhbhai Patel
(C) Ambedkar (D) Gandhiji
27. Who sought to militarise China ?
(A) Chiang Kai-shek (B) Sun Yat-sen
(C) Mao Zedong (D) Xi Jinping
28. The cruel practice of foot-binding of girl children was in ...
(A) China (B) Saudi Arabia
(C) Israel (D) Italy
22E(B)
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29. Vietnam lies in the continent of ... |

(A) North America (B) South America
(C) Asia (D) Africa

30. The nations that were not invited to become members of the
league of Nations. [
(A) England, France
(B) China, Russia
(C) Germany, Russia

(D) France, Germany

31. Which of the following is / are related to ‘New Deal’ ? [
(A) Relief to the victims of depression.
(B) Reform of Financial institutions.

(C) Steps to ensure economic recovery.
(D) All the above.

32. Who among the following was not a member of Indian Constituent
Assembly 7"

(A) Jawaharlal Nehru

(B) Sardar Véilabhbhai Patel
(C) Sarojini Naidu |
(D) Mahatma Gandhi

| ]

33. The Present Chief Justice.of India is ... & [ ]
(A) Ranjan Gogoi _ |
(B) Dipak Misra
(C) Madan Lokur
(D) PN. Bhamﬂtii'-fﬂ :
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